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0Old Syllabus

Time : 3Hrs. Sem - I1I/ C/R
Soil Mech.

Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift ufg gl & SR <, IS U & 99 § b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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10.

OR(3721d) (ii)

Describe the particle size distribution curve and

explain its practical utility.

YT ATHR fIaRoT 9sb &1 quie] SR qAgT 3D
ATaERS ITANN B ARAT X |
(iii)
Describe in brief the procedure of modified
standard proctor test for compaction of soil.

8
ST 31 Gl B oid & fad IuraRa AFs

Yidex wiirg fafsr &1 gfdraa qoiq &3 | (iii)

OR(3721d)

Mention the assumptions and limitations of

Terzaghi's analysis . Write the Terzaghi's bearing W)

capacity formula for continuous footing.

el & fagdyer § 9t 18 w=asl ua
A1 BT Seol dY | fHAl Had wfeT a1
RO Gl & ford exerh &1 ¥3 ford |

3 15305

LEIR T EIRTS A 1 A ugfa
$ Idvd 3Tl 2|

(a1) fegwadia

(@) rafa

(|) vpd W

(®) v wha

If the voids ratio of soil is 0.50, its porosity
will be:

(a) 66.6%

(b) 33.33%

(c) 50%

(d) 20%

afe a1 $1 Raaar sgurd o0.50 a1, i
sa®! A¥gar sk

(@1) 66.6%

@) 33.33%

(&) 50%

(2) 20%

For determination of water content of soil
sample it is kept in electrical oven to dry at
105° C to 110° C for

(a) 6 hours

(b) 12 hours

(c) 24 hours

(d) 48 hours
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frcdl @ ts A & 100 C.C. 3FTA DI ATAT
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OR (3121a1)

Establish the functional relationship among
saturated unit weight (Vgat ), specific gravity (G)
and voids ratio (e) or porosity (n). Take unit

weight of water as ry.

G 3BIS AR (Viy). fal¥Ise poc (G) 3k
Raaar Fqura (e) @1 dxgar (n) 4 fparsfia
T T B | Tl BT gbls IR 1y o |

Explain how the plastic limit of a soil sample can
be determined in the laboratory.

8
gaienar 4 fedl fiedl @ A &1 gucy
@ »9 Frd fear orar 2, aofa &Y

0T3009

(vi)

(vii)

(vii)

(viii)

5 15305

IS Bl 600 HAISHIT & B BT AMHR
BT :

(31) 0.006 mm

() 0.06 mm

(|) 0.6 mm

() 39 9 BIg T8

Highway Research Board classification of
soil is based on:

(a) Particle size composition

(b) Plasticity characteristics

(c) Both (a) and (b)

(d) None of these

3T &1 G AL uRug aiffavor
Jrena 8?

(31) ®orT URATY FATSTHAT WX

(@) gucadr Afreeer uwx

(&) (@) 3k (@) <FF W)

(?) 37 & ®Ig T

If the plasticity index of any soil is zero the
soil is:

(a) Silt

(b) Clay

(¢) Sand

(d) None of these
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OR (3121a1)

Define bearing capacity of soil. Differentiate
between net ultimate bearing capacity and net
safe bearing capacity of soil.

ficdl & arRur gaar & aRwfda &3 | fags
I)H FRCT &Hdl Ud fagg Yrida gror &wdan
H 3R W B |

Differentiate between particle size classification

and textural classification of soil. 4

ST BT AMHR Yd QT T84 & IR 4R JaT
qiffevor & fave &

OR(37214)

Discuss the merits of direct shear test.

gAe JTBYYT N & ol B fad=ar oW |

Differentiate between sieve analysis and

sedimentation analysis.
4

Tl fazelvor 9o deoe fazavor o =}
s B |

0T3009

x)

(xi)

(xi)

(xii)

7 15305
e forad 9l AMedR & ST Algs
REd ©, 99 Hed o

(31) sr=dt Ao are

(@) @19 Aoft areft
(4) ve gar= Aol qrefl
(?) s 9 »Ig

The principle of permeability is given by:
(a) Coulomb

(b) Stoke

(c) Darcy

(d) None of these

(|) S
() 39 9 BIg 78

Unit of permeability is:
(a) Cm/Sec

(b) Cm’/Sec

(c) Cm/Sec’

(d) None of these

P.T.O
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GROUPB

Answer all Five Questions.

gl ufg 9 & SR < |

0T3009

4x5=20

2. Define voids ratio and porosity. Establish the

relationship between them.

4

Redqar sgurd ¢d ERedr &1 gk« § I

S9TH e R Ifud B |
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(xiv) 3IfrHaH YPodb T YT fHar Srar 2 |

(xv)

(xv)

(xvi)

(31) rferpay -+ wr
(@) &9 0 W)
(&) T T W
(?) srgae T W

In Box shear test, failure plane is:
(a) Vertical

(b) Inclined

(c) Horizontal

(d) None of these

dfqd 3qeuvl gferer § fawerar aHdad
gt 8 ?

(31) SeU

(@) sa

() afeor

(]) 379 | HIg T8

The shear strength of soil depends on:

(a) Cohesion

(b) Interlocking of the particles

(c) Frictional resistance between the soil
particles

(d) All of the above
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